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What is an attribute in a relation ?

(A) A database column
(B) A database row

(C) A database constraint
(D) A database table

(E) Not attempted

If the cost price is 96% of the selling
price, then what is the Profit percent ?
(A) 4.17% (B) 5.17%

(C) 6.17% (D) 3.17%

(E) Not attempted

Haryana Govt. had declared which
among the following year as ‘The Year
of Industry and Employment’ ?
(A) 2012

(B) 2013

(C) 2011

(D) 2014

(E) Not attempted

The outermost solid cover or shell of
the earth is known as

(A) Sima

(B) Sial

(C) Igneous

(D) Earth crust
(E) Not attempted

Anil introduce Rohit as the son of the
only brother of his father’s wife. How
is Rohit related to Anil ?

(B) Uncle
(D) Son

(A) Brother
(C) Cousin

(E) Not attempted
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(C) 6.17% (D) 3.17% 7"'},
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( (BY'2013
(C) 2011
(D) 2014
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10.

(D) None of these
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The water accumulated under the
ground surface in this manner

(A) Well (B) Canal

(C) Ground water (D) Spring

(E) Not attempted

With the help of which of the

following international organizations,

Haryana Community Forestry Project

was started ?

(A) World Bank

(B) European Commission

(C) South Asian Association for
Regional Cooperation (SAARC)

¥ =]
rfb@p

(E) Not attempted i

Which Article in the Indian Constitution
is related to the Equal Justice and Free
Legal Aid ?

(A) Article 39A
(C) Article 39D
(E) Not attempted

(B) Article 39C
(D) Article 39B

Full form of RKVY is

(A) Rashtriya Krishi Vikas Yojana
(B) Rajya Krishi Vikas Yojana

(C) Rajya Kendra Vikas Yojana
(D) None of these

(E) Not attempted

Which function is used to free up
memory allocated by malloc(), calloc()

or realloc() ?

(A) clear()

(C) free()

(E) Not attempted

(B) reset()
(D) deallocate()

CG - CG23

6. 3@ aH ¥t F war F g T THOAA
Bl 8
(A) FA
WeRLES
(E)

7. fr=Rifaa 3 @ fee sfaisda g@med i
wErl & g G SR A
AT TS 7
(A) fava =
(B) AT ST

_IP) T TR st wi G
FIFTRIH (SAARC)
(D) 38 ¥ H1S T
(E) vt

WG WIS B HH-H1 =08 =
% THM AR 3R gra fafus wgmar 9

Tl R 7
L4A) 3TT=DG 39A  (B) 3TF=9% 39C
(D) 3TT=8¢ 39B

(C) 3T=BT] 39D
(E) STHATRIG

(B) &
(D) fem

9. RKVY & fa&r &9 8

\ ) TR T e A
(B) T HiY forprd A

[E]34 I:I

;:ljﬁ) (C) T g T A
(D) T QA HE TE
(E) 3rsarféa

10. malloc(), calloc() AT realloc() GRI

rmafed AN 6l Had W & foe fem
R BT IR fR Sirar ® 7

(A) clear() B) reset()

(C) free() (D) deallocate()
(E) 3wnféa
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RIDF was established in

(A) 1995 - 1996 (B) 1992 - 1996
(C) 1993 -1995 (D) 1992 — 1993
(E) Not attempted

Which of the following is used to
manipulate data from a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)
(D) None of the above

(E) Not attempted

Evaluate : 28% of 450 + 45% of 280.

E3% 3]
(B) 356 fg;g;

(A) 252
(D) 254 .........

(C) 201
(E) Not attempted

Which Article in the Indian Constitution
is related to the Abolition of

Untouchability ?
(A) Article 117
(B) Article 18

(C) Article 121
(D) Article 17

(E) Not attempted

was the longest serving

Governor of Haryana.

(A) Birendra Narayan Chakraborty
(B) Ranjit Singh Narula
(C) Jaisukh Lal Hathi
(D) Dharma Vira
(E) Not attempted

CG - cG23
11. RIDF 3 Torrfre g2 |
(A) 1995-1996 (B) 1992 - 1996
- 1993

NE) 1993 — 1995 (D) 1992
(E) ST

W) e e @ (DML)
(B) e T e (SQL)
() a1 Sffiem st (DDL)
(D) I # A HIE T

9 M M5
(E) ITSRITHA i % ,r’ j? x %
13. 450 %l 28% + 280 1 45% =l qE Jd
F1 | Vob #1176
L-A) 252 (B) 356
(C) 201 (D) 254
(E)

14. STl GRYE F HH-TT AT
Sreqstdr % e & Hafa @ 7
(A) ITOT 117
(B) =08 18
(C) =% 121

(% scanned with OKEN Scanner

Visit Website "Sarkaridob.in"



Visit Website "SarkaridJob.in"

16. Full form of AlS ig

Nati
(A) ional Argulnent e

C) National
[ Survey Arguments Institution

(D) None of thege
(E) Not attempteq

17. Pointing to a Photograph, a man said,
“I have no brother o sister but that
man’s father is my father’s son”.
Whose photograph was it ?

(A) His son’s

(B) His father’s
(C) His own

(D) None of these
(E) Not attempted

18, Transformation of Aspirational Districts
Programme was announced by

(A) Atal Pension Yojana

(B) Pradhan Mantri Yojana
(C) NITI Aayog

(D) None of these

(E) Not attempted

19, What is a stream in C Program ?
(A) A way of handling input/output
operations in 2 program o
(B) A type of loop used in decision
making structures
(C) A type of function use
manipulate strings
(D) A type of data structu
store variables
(E) Not attempted

d to

re used to
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16. NAISHI facrR®wd -

(A) AT MRIHE SYE W
b@ﬁma@mg’wﬁauﬁﬂ
() IeFe ey ST |d
(D) T & ¥ T

(E) Avamtad

w for 1 3R e @ gL, T S
X a1, “BU B WS A1 95 TE &8 T T
=fF ¥ o M & @@ & 1@ =
frae1 8 7
(A) 37 T 1
(B) 37 faan =1
(C) I7H1 T F
(D) 398 & 13 T
(E) i

18. el fren sriwHn %1 w98
FTH 21 =it fepam |
(A) 3T UIE TS
(B) TUTHT TS
\A©) Hife s
(D) ¥ & I3 TE
(E) 3rsaifaa

CiTm A EH AR ?

(A) T T F $gE/ S FAH
[T 1 T

(B) Tooia &7 waet dw= o 3w fy
S STl Teh TR T T

() & =t aRada #1 % forw 3wy
foran S 9T T THR H FE

|AD) T FebR HT ST HLEHT REHT 3y
R Gug A forar S 2

(E) Tymida

19.
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20. What was the percentage increase
in the foreign exchange reserves in
1997 — 98 over 1993 - 94 ?

FOREIGN EXCHANGE RESERVES OF A

5000 COUNTRY/(IN MILLION US $)

5000
4000

1991-92 199293 1993-94 1994-95 1995-96 1996-97 1997-98 1998-99

22.

(B) 200
(D) 100

(&) 150
(C) 620
(E) Not attempted

Which of the following is used to
define the structure of a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)

(D) None of the above .
2o

Ba

(E) Not attempted

Full form of IMRB is
(A) Indian Market Rural Business

(B) .International Market Research

Bureau

(C) Indian Market Research Bureau

(D) None of these

CG - CcG23
20. 1993 -94 ¥ 1997 - 98 H st fF
e o v sga = off ?
FOREIGN EXCHANGE RESERVES OF A
6000 COUNTRY(IN MILLION US $)

i)

1991-92 1992-93 1993-94 1994-95 1995-96 1996-97 1____.:.
—

(A) 150 B) 200 57 3
 p) 100 “252°

&5 (C) 620
i (E) TorRf
21. eEE i G F v HE 6 T
frer 3 & frger sodm R ST ® 7
(A) & AfegeivE &S (DML)
wofB] TFaS = AN (SQL)
- @) 31 Sfpfim oS (DDL)
(D) ST & ¥ g T&l
(E) 3rs=nféd

22. IMRB I fo&R ¥4 2
(A) 3fee wrehe T T
(B) g Ak s =g
AG) o e Tt
(D) T @ FIS T

(E) Not attempted

(E) 3TRE
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This person 1,
€c
be appointeq g4 Ame the first Indian to

Punjab High Couthe 1% Chief Justice of

i Itin 1913
(A) Sir Shadijg

(B) Dr. Saryp, Singh

(C) Chzaludhau.y BanSilaJ
(D) Sir Choty Ram

(E) Not attempteq

N«':l’tiona.11 Agricultyrg] Co-operative
Marketing Federatjon (NAFED

. ) was
established on ay

i (A) 27 October 1985

n [E]
(B) 2= September 1958 3

(C) 2" October 1983
(D) 2™ October 1958
(E) Not attempted

o

ST

A

[=

Who was the founder of the Shunga
Dynasty ?

(A) Bimbisara (B) Agnimitra

(C) Pushyamitra (D) Ajathashatru
(E) Not attempted

A cyclist covers a distance of 750 m
in 2 min. 30 sec., what is the Speed

in km/hr of the cyclist ?
(4) 12km/hr  (B) 17 km/hr
(C) 18 km/hr (D) 13 km/hr

(E) Not attempted

Which of the following modes is used
for opening a file for appending ?

(A) r’ (B) ‘g’

(C) % D) W

) Not attempted

CG - CG23

23. 39 <Ifd P 1913 & Yo 397 =Aed +
qEell IR g1 =yrnsdior % = # e
foman T

AK) T IMGATe
(B) SI. u&y fifg
(C) =adt dHieTe

o7 D) W w

[E]=8[=] (E) mﬁa

24. T FN wedrl faqum HeteH
(NAFED) = T fepam AT |

{8 2 3R 1985
(B) 2 faas 1958
(C) 2 TR 1983

\_IBJ 2 ISR 1958
(E) 3T9Tida

25. YT 91 1 HEATYH HiF 41 ?
(&) fofeEm (B) Ifmfim

AC) geEttE (D) STy
(E) 39nfea

26. T HI$shel AR TF 750 m T g I
2 e 30 The § 77 T R, wEEa

R T km/hr B w R 7 35 X2
3PS

(A) 12 km/hr (B) 17 km/hr

tAC) 18 km/hr (D) 13 km/hr
(E) 3T

27. g & 39 W FIzet Wie & forg i
4 8 fRw WIS %1 3w R s @ 7
® v “(B) @
C) % (D) ‘W’
(E) ITwRnfda
-7- B
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29.

30.

31.

32.
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Which type of join returns only the
rows that have matching values in

both table ?
’(B){eft join

(D) Right join

(A) Outer join
(C) Inner join
(E) Not attempted

Full form of MUDRA is

(A) Micro Units and Development
Refinance Agency Ltd.

(B) Micro Units and Development
Reference Agency

(C) Mantri Union Development |
Refinance Agency Ltd.

(D) Mantri Union Development
Reference Agency

(E) Not attempted

Which planet is known as the “Watery
Planet” ?

(A) Earth

(C) Jupiter

(E) Not attempted

(B) Mars
(D) Mercur_x |

EIZHE
Which of the following pairs is gﬂﬁi
correctly matched ?

(A) National Dairy Research Institute :
Manesar

(B) YMCA University of Science and
Technology : Faridabad

(C) Lingaya’s University : Hisar

(D) National Brain Research Centre :
Hisar

(E) Not attempted

Jayer lies below the crust.

(B) Rocks

Core
*) (D) None of these

(C) Mantle
(E) Not attempted
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g et & R Qe et 3 e
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’ @A) TEG STE  (B) T T
(C) i Sigt (D) qrAl e
(E) TR

29. Munmwﬁaam%
(AA) TR F(TE T TqwHe NEET
i fafies
(©) e gf Sdeie Reprsara CorEt
ferfies
o (D)ﬂsﬁqﬁm%ﬁmﬁziﬁa@?ﬁ
i (E) 3rSrnter
30. T8 78 1 el T8 HEd & 7

LA gt (B) T
(C) Jewfd (D) g4
(E) SToETad

frrferiad 3§ & SF-1 9 gfeE & 2
X (A) TS SR FTTHUH TAM : HHw

By It giaRife 3w Ty de
PG T IS B U L

(c) Fommn gfvafdfe : faw
X (D) Tt AiETH STHIN g, : fgn

(E) ITSrRTRd
32. WW%%@?{}%|
(A) B (B) JgM
LAQ) W (D) T ¥ H$
(E)
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Which Artig)e ;
€1In ;
is related tq the the Indian Constitution

Village Pa_nchayat;ganization of the
(A) Article 3q B’f’
(C) Article q;  B) Article 45

(E) Not attempteq (D) Article 40

Which libr

tring co arymnction is used for

SIS fCatenation i, o ?
ro

(A) strepy() program

(C) strrev()
() Not a ttempte:{('b)/ streaty)

Ifa:b:‘s:gandb.C:

finda:b:c. 4:7, then
(A) 36:20:63
(B) 63:20: 36
(C) 20: 63 : 36 oxe
(D) 20: 36 : 63 ggﬁf

(E) Not attempted

Recently, Jahanara Bagh Stadium in

Jhajjar district of Haryana has been

renamed as

(A) Hemchandra Vikramaditya
Stadium

(B) Narendra Modi Stadium

(C) Maharishi Dayanand Saraswati
Stadium

(D) Rao Tula Ram Stadium
(E) Not attempted

The regulated and controlled distribution

of essential goods among people means

(A) National Institute of Agricultural

(B) soirrlzzt(l)f igicwwd Credit in India

(C) Public Distribution Syster

D) National Cooperative
Development Corporation

) Not attempted

Visit Website
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33. Wmmmﬁq_mmm
T % WA W Haiftr 2 7

i (A) AT 39 (B) ILTIE 45
B (C) W41y 3T 40
(E) TSt

34. Cc UM ¥ @1 srdfedyw ¥ g fpd
AT B T IR 3 ST @ 7

(A) strepy() (B) strlen()
(C) strrev() (D) strcat()
(E) A5t
35. ?Iﬁa:b=5:93ﬂ'{b:c=4:7,T'ﬁ
g:b:ciﬂﬁ?ﬁl gjc/{
(A) 36:20:63 e /S
(B) 63:20: 36 o;;’g'é/éj
(C) 20: 63 : 36
\_{P) 20:36: 63
(E) 3R
36. T & W, BN % TR e & FEEAT
T Rfeaq =1 9M weee
forem T R
A 3y, fespuiers wfeam
(B) g At wfeam

(C) WeRfy e awadt wismm
(D) T g T Rfeam

(E) TSR

it 3t sravEh T % frfE v
Frata foraor = forw SR ®

(A) Tftr i forvm Hearm

(B) WRd H HfY /I |
U,e(mdaﬁmﬁmmm

(D) U Tgehrl) e wiaiem
(E) T

37.

(% scanned with OKEN Scanner
"Sarkaridob.in"



[

38.

39.

40.

41.

42.

Visit Website "Sarkaridob.in"

“Mountbatten Plan” regarding the
partition of India was officially declared
on

(A) 10 June 1947
(B) 03 July 1947
(C) 03 June 1947
(D) 04 June 1947 S
(E) Not attempted

Which of the following was the theme
State of Haryana’s famous Surajkund
International Crafts Mela, 2022 ?

(A) Punjab

(B) Jammu and Kashmir
(C) Himachal Pradesh
(D) Uttarakhand

(E) Not attempted

A deposition of sand which results in
a long, narrow embankment in the
sea near the coast is called

(A) Lagoon (B) Latitude

(C) Beach (D) Sand bar

(E) Not attempted

Complete the following Analogy.
Cardiology: Heart:: Mycology :

(A) Shells (B) Skull

(C) Fungi (D) Diseases
(E) Not attempted

The two general categories of crop
insurance are called
(A) Crop-price insurance and crop
insurance
(B) Crop price insurance and crop
revenue insurance
(C) Crop-yield insurance and crop
revenue insurance
(D) None of the above

(E) Not attempted

cG - CG23

WW”@W%W-& .
cfira oft, 1 st oo
&1 TS|
(A) 10 ¥[d 1947
(B) 03 I§ 1947

03 [T 1947
(D) 04 S 1947

38.

0. FrefifEd § & wi-a1 ghamn & FE
e FTARHS FHTRE Hell, 2022
el TSI o1 7
(A) oo
AB) T 3T FHEH
(c) fewr=e W@

(D) TGS
(E) 3ranfd

40. Y 1 SE RS ghomm WEY T a9,
U RFTT Tg % a¢ TS I R,
B e 2 .
b L) o (B) &
(C) TH5 W (D) el gt
(E) 3tRRE

41. frafafes sasaa gt Hifvg |
SIS : Ted :: WIgehITISl «
(A) e (B) W
LAC) HFh (D) T
(E)

&=

42. HTE o ) QA At

Faerdl 8
(A) HES Yoo AT 3R SHSA sy

LBy H Yed ST 3R o Trorey s
(C) ol e T 3N ey Jroreg S

(D) U W | HIg TE

(E) 3rsrnfda
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43. —— HSfil‘ves as a connecting link 43. feaTerg 3t g & ﬁ?{Fﬁ *
€e
oldins N Himalayas and Haryana &9 & H R
(A) Aravalli hills () 1 f J
(B) Morni hills (AB) T At wmife
(C) Mewat hills (C) HaTa i Teifeat
(D) Tipra hills g (D) fewu i werfeat
(E) Not atfemptesl %‘@E (E) 3T9Tiya
44. Pradhan Mantri Jan Dhan Yojana 44, YUFEEN 9 99 TS B AH _
was launched on ~ = fomam )
(A) 28" August 2016 (A) 28 3TTE 2016
(B) 28t November 2014 (B) 28 &K 2014
(C) 28% August 2014 \_4C) 28 3T 2014
(D) 28 November 2016 (D) 28 FEs 2016
(E) Not attempted (E) TS
45. The largest planet of the solar system is | 45. HWR fofen &% 998 931 18 2
(A) Saturn (B) Uranus (A) = (B) T E
(C) Jupiter (D) Neptune |AC) Tewfd (D) =T
(E) Not attempted (E) 3R
46. A, B and C started a busine_ss by 46. A, B IMCIAF. 1,20,000, &. 1,35,000
investing Rs. 1,20,000, Rs. 1,35,000 31 &. 1,50,000 F¥: o= x4 qC 0
and Rs. 1,50,000 respectively. Find HER LS fora| anftfes &9 ®. 56,700 *
the share of each out of an annual Teh IiTeh 1Y & Teh h1 3191 F1d . |
profit of Rs. 56,700. (A) 4:5:8 4:?’ | H’S‘ 150~
(A) 4:5:8 _A4B) 8:9:10 £ .9 10
(B) 8:9:10 0% sbs
¥ (C) 5:6:3
(C) 5:6:3 [El=k = . '
(D) None of these (D) ¥ & PIE e
(E) Not attempted (E) AT
47. First Mobile Court of Haryana was 47. WE@H ¥ gRewn $i veeh
set up at Mewat in Hrerge =mrared wfua fora w |
- B
@A) 2003 (B) 2005 (A) 2003 (B) 2005
\_€) 2007 D) 2000
(C) 2007 (D) 2000 ) 2 (D)
(E) 3mRItaa
(E) Not attempted
11- B
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48. If \/15= 3.88 then find the value of \g .

49.

50.

51.

52.
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(A) 5.60
(C) 1.2933
(E) Not attempted

(B) 7.80
(D) 13.97

If D = 4 and COVER = 63, then
BASIS =?

(A) 50

(C) 55

(E) Not attempted

B) 54 [3vs-
D)4 3 -

In which year, British Govemmeﬁt
politically divided Haryana into two
parts ?

(A) 1805 e
(B) 1810 %‘i;@
() 1815 §
(D) 1800

(E) Not attempted

Mixing of unwanted substance with
water is called

(A) Sound pollution

' (B) Water pollution
" (C) Nuclear pollution

(D) Soil pollution
(E) Not attempted

When did Mauryan Empire begin ?

(A) 323 BC
B) 322BC
(C) 289 BC Efi‘
(D) 326 BC

(E) Not attempted

CG - CG23

48. Ifc J[5=3.88%, @ \EWWW
+ |
(A) 5.60 (B) 7.80

(D) 13.97

49. 21&D=43ﬁ1c0VER=63,??r

BISDS 1§
BASIS = 7
g M9

V(A-)SO

(C) 55
(E) 3T

50. ffew TR Y Twehi AR g i e
3 et 3 site fea
") 1805
(B) 1810
(C) 1815
(D) 1800
(E) 3Toramie

51. W & @Y FEiod ueed o1 e
FHET 2 |
(a) = S
(AB) Sfet He
(C) TfEhRI g
(D) &1 e
(E) TRt
52. N GHST He UE &3 ?
L4A) 323 BC
(B) 322 BC
(C) 289 BC

(D) 326 BC *
(E) e

(B) 54
(D) 49
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" (B) Kisan fair
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The most widespreaq form of

adv.e Tising and is the favourite of the
Indian rural masses

(A) Magic shows

(B) Wall painting

(C) Folk media

(D) None of the above
(E) Not attempted

In Haryana, this famous fair of

Karnal is held on every September
(A) Gopal Mochan fair

(C) Gangor fair
(D) Mango fair
(E) Not attempted

Find the average of all prime numbers
between 30 and 50.

(A) 49.8 (B) 39.8

(C) 38.8 (D) 59.8

(E) Not attempted

Which of the following is the fastest
memory in the memory hierarchy ?
(A) Primary memory

(B) Secondary memory

(C) Cache memory —
o
(D) Tertiary memory e

(E) Not attempted

i ing Capacity in a
is the earning “<k

rural market. The cost of Living always
depends upon their way of earning.

e unreliable, as
So, the Income levels &7 ed upon the

most of them are d€PERTL", T ome
seasons and agricultur®: o0

levels cannot be @ fixed one:

B) Sace e sural Backgrond

(C) Economy

(D) All the above

(E) Not attempted
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53. fIFOH 1 G99 =AUH €9 377 YR Hi
IO ST T TS @ '
(4) SEHFEA
) fufer fom

‘l./(ci)z—ﬁaﬁtﬁ%m

%‘"fgﬁ(mmﬁﬁaﬁé:@

EAHE](En Gﬂﬁﬂﬁgﬁ

54. BREON ¥ FET H T8 g Ferm wfoa
firdeat # orar @
(A) AT Hr= Hell >
(B) fepam #em
) TOFTR HeT

V}g) 3 Tl 9
(E) STwamted
(A) 49.8 (B) 39.8 " R s
(C) 38.8 (D) 59.8 79 -
(E) STSartad

56. Tefafad § & wH-€t 79 qegHe §
qad A AAE 2 7

57. rfior SR H 3T &HaT R
Se-TT9 ! I Hed STeh AT IS 5
el ol 8| 3 W Sifavaeiy
2 ifn 3 arferemie HEw 3 HN W fuk
2| ara; 3w w Rived 7& & w1 2

B
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59.

60.

61.

Which among the following districts
of Haryana is not drained by Yamuna

" river ?

(A) Hisar (B) Panipat
(C) Yamuna Nagar (D) Sonipat
(E) Not attempted

A and B together can complete a piece of
work in 4 days, if A alone can complete
the same work in12 days. How many
days can B alone complete that work ?
(A) 7 days (B) 6 days

(C) S days (D) 8 days

(E) Not attempted

Which of the following diagram
correctly represents Elephants,
Wolves, Animals ?

3
>

E¥E
RAY
L8

(E) Not attempted

What value will replace the question
mark in the following equation ?

1 1 1 2
= ol —=13—
42+36+?+23 5

1 32
@) 37 B) 33

3

—- D) None of these
€ 1345 (D)

(E) Not attempted
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ﬁﬁmﬂ%ﬁ—mm

58.
) T (B) T
(© FFFR (D) WA
(E) AT
59. AaﬁtB@m@Waﬁ“ﬁ:ﬁ,ﬁ,m
%|ﬁA3ﬁﬁg&ﬁWﬁ12ﬁ”ﬁﬁW
el 2, aamwmﬁﬁﬁ
forfi § o ThaT & 7 L '-Are
(&) 7t (erefa i
©) 5 f& D) 8 fe
(E) T5aiea
60. Frefeifad § & Sw-an ot weft, i,

Tl € ale | quiar g 7

1 1 2
4-+3—+7?+2—=13=
2 6 3 35

i) 32
(D) ¥ & i 7

1
®) 37

3
(© 1335
(E) JTSntéa
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62. ThiS.SPOI‘tS Pe€rson from Haryana was
no.ml.nated for the Dronacharya Award
(Llfetl.me Category) in recognition of his
contribution tq the sport of wrestling
in 2022
(A) Raj Singh Chhikkara
(B) Ravi Kumar Dahiya
(C) Vinod Kumar Dahiya
(D) Vijendra Kumar
(E) Not attempted

63. What is Solar Eclipse ?

(A) When Earth comes in between
Moon and Sun

(B) When Sun comes in between
Earth and Moon

(C) When Sun Rays do not reach Earth

(D) When the Moon comes in between
Earth and Sun

(E) Not attempted

64. India is the largest Country in
the World (in terms of area). it
(A) 7 (B) 9
€) 5 (D) 8

(E) Not attempted

65. Battle of Karnal was fought between
and Muhammad Shah of

Mughal empire.

(A) Lord Warning

(B) Nadir Shah P
(C) Sadashiv Rao Bhat i
(D) Siraj-ud-dauld

(E) Not attempted

66. NDC full form is
(A) National Defence ngsra:
(B) National Directo™ college
(C) National Directory

=

150

- Yos

65 FA@EIE

e
D) Natio nal Defence Colleg
E) Not attempted
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62. TR % 30 Raemdt #2022 # Fwht
% WA 1 I AMEH B Z0TEE 3ETE
¢ (TS TRW HeR) B At o o

(4) T fére foapm
(B) T o e
(D) iz T
(E) i
63. PIRgU AR ?
(A) e <A1 3R TF * T geE o7 9
(B) & qeeft 3R Izt & <ffw wF 31 A

- g%a%(q e g AR g A g

(E) 3T

64, YRafiga® €SI (FHa ®

Hef H) TR
7 (B) 9
(D) 8 '
o (E) :
% TEHTE g < st w1sT T |
(A) e I
\_B) TieT e
(C) TeIlR@ TE WIS
(D) Rre-3g-gen
(E) TSR
66. NDC @1 foreqa &9 2
(B) yel SRR B
(C) et SRRl wict
(D) Awra 3o wict
() Frnfea
B
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67. Pehowa mela is held in which among
the following district of Haryana by

33 (A) Kurukshetra 24 i J
(B) Karnal /Sx 39 H
49 (C) Panipat 3+ 3&% ”
3 b (D) Sirsa %
3 5
| ’%; 2. (E) Not attempted !

68. Who was the Chairman of Steering
44 ¥'° Committee of Constituent Assembly ?

B
7,4 2 (A) Sardar Vallabhbai Patel

| 2r! (B) K. M. Munshi .

l : 33*3 =32 (C) Dr. B. R. Ambedkar

(D) Dr. Rajendra Prasad
(E) Not attempted

@u_,

». ¢ HJ?I gﬂ;
| | f"’zwf?éxé

69. Find the sum of all 2 digit number

il

(D) R
é:-— iE (E) ST
[l e

68, Gl @ 1 werer a1 THAL
S ol ?
(A) TG TeETHETE U
(B) . T guft
(C) =1, . 3. AT
(E) STwtad
69. mﬂzmﬁzﬂa@mﬁwvﬂﬂaﬁﬁ

[ AR

215,18, - - ivisible by 3. o 157 EAN '—Qq i 37 fawrs €1
I a0 12, 51, 18, 21,....., 99. ,,} i 12, 51, 18, 21,....., %
3,0 -
| (A) 1678 (B) 1458 " 5 (A) 1678 (B) 14587
. ,5@ (C) 1669 (D) 1665, . ;%j (C) 1669 (D 1665
<3 (E) Not attempted (3o| (E AT
vE Y e ,
5 ysx 33 70. A worker may clalm Rs. 15 foreach km | 70. U HHOrl ot & IET HA W wiq fph
| {p/ %) which he travels by taxi and Rs. S for 15*63ﬁtaq:ﬁw%waﬁqmﬁfﬁ;ﬁ
a7 tj( 77 each km which he drives his own car. 5%, 9 ERHERH% ITE 3
"'; 1 J If in one week he claimed Rs. 500 for i l R & o
‘ ; travelling 80 km, how many kms he T BOﬁ;ﬁqﬁT?ﬂe{%%qg 500 &1 q
7 i Tepm <t 3R e gro o
38 travels by Taxi ? g IEH 7
/
TUY (A) 20 km 16d (&) 20 ferdt T :
M AT gxy FoXIS  goxs
y (B) 30 km }S/X . i e (B) 30 et [0 o
: C) 10 km 2
(C) i35 \_{e) 10 ferht N
(2(%,% (D) 40 km 53 (D) 40 ft K
[s3X o _
(E) Not attempted T’ﬁ (E) st % o
B <__;"‘8/ "'1‘6"
{065
-~
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Which among the following is the highest
award of Haryana State Govt. for the
outstanding Players of Haryana ?

(A) Bhim Awarq “

(B) Rani Laxmj Bg; Award

(C) Guru Vashisht Award

(D) Maharana Pratap Award

(E) Not attempted

In the mesosphere, the temperature will
(A) Decrease at first and then increase
(B) Decrease

(C) Stay the same as in the Stratosphere
(D) Increase |

(E) Not attempted

A deep narrow valley with steep sides
is called a

(A) Gorge

(B) Delta

(C) V-shaped valley

(D) All the above gﬁ%
[=]=k[=]

(E) Not attempted

In each of the following, find the
figure from the answer set which
will continue the series given in the
problem set.

P — -
(A B) [—

—

—e —

— R
C) | —> (D) —

__—> —

(E) Not attempted
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71. AW % Ikt Reanteat g shamn v
R 3R | Fare g Frfataa o
YHA-TR ?

WO R S
(B) Tt Tewt a8 31aTe
(C) T® Al J7are
(D) WV JaT 37T
(E) TSR
qegHed |, a9
(A) g T T e
(B) wem

72.

(E) s
73. T Tgh g urdt foaes Ty @t g
®,__ g gl
LAy Tt
(B) e
(C) V-3THR Ht =it
(D) I &t
(E) TR
74. Tafafga & @ v s ag=9 4 §
Zfeu <t onen ag= ¥ @ T JEen @l
vl @ R |
—_—s | — | > | ——
1 2 3 4 5
A (== B) |=—
— —
(_AC) — D) ==
(E) 3t
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79.
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Which of the following numbers
divisible by 3 ?

(A) 5967013

(C) 541326

(E) Not attempted

(B) 1111
(D) None of these

In March 2023, Haryana became first
State in India to achieve 100%

(A) Adult education

(B) Electrified railway network
(C) Solar installation

(D) Rural electrification

(E) Not attempted

0

Loss
\
o

™.

e
B

]

What is the reason behind red soil
developing a reddish colour ?

(A) The presence of potash and magnesia
(B) Due to the presence of iron

(C) Over Grazing

(D) None of these

(E) Not attempted

Which error detection code uses a
single parity bit to detect errors ?

(A) Hamming code

(B) Parity check

(C) Cyclical Redundancy Check (CRC)
(D) All of the above

(E) Not attempted

An aeroplane flies along the four
sides of a square at the speeds of
200, 400, 600 and 800 km/hr.
Find the average speed of the plane
around the field.

(A) 384 km/hr
(C) 564 km/hr
(E) Not attempted

(B) 444 km/hr
(D) 765 km/hr

CG - CG23

75. e i & - we 3ufwa R ?

(a) 5967013 = (B) 1111~
541326 (0) FEABET
(E) I
76. o 2023 , SR 3 H 100%
T S aTell gger T <41 |
(A) TIEH &
(B) T (e TETh #
(C) TR e
\/D/)mrﬂmﬁg'cﬁww
(E) 3TrITtHa

77. mqm%mh%@ﬁﬂmw%?
(&) trere 3 Avhfirn 6 ufefd
\_B) Tg i gufeufa
() fere =E
(D) T ¥ &8 TE
(E) TR

78. F-T1 T fEeavE WIS W H1 qaT A
¥ fore e AR fore 1 SR AT R ?
() 2fF =ie
UiB) B 9=
(C) Trfrema fEER v (Hiem)
(D) 3wl At
(E) Trnfaa
79. U §ARS W& 200, 400, 600 3R
800 km /hr ! Tfad ¥ w o &l TR
S w-E IEd R | & % =
Sk ST T e < S TR
OENO|
) 384 km/hr  (B) 444 km/hr
(C) 564 km/hr (D) 765 km/hr

(B) 3=t
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district of Hal‘yana
(A) Peacock throne
(B) Raaj Mahg)

(C) Rang Mahg
(D) Red fort

(E) Not attempteq

Classification of Rural Markets is
(A) Industrial Market

(B) Services Market

(C) Consumer Market

(D) All the above

(E) Not attempted

In each of the following find the
figure from the answer set which
will continue the series given in the

problem set.

LiL 5

1 2 - 3 4 5

(A) L’
(B) L‘

Q| —=

(D) /

(E) Not attempted

CG - CG23

80. o 1 IR Tikg T el g
gh@mn % 3Emen frer #§ gwarr

(A) TNl TN
(B) TET IR

L33 (C) IJTHTHRIT TR
(E) Jrvanted

82, Tr=faiRea # @ TR+ s ag=a 4 4 =
Gfou s wwen ag=a 7 & 7 Een S
T T

B[

— -

T

1

w
N
n

1 2

(A) T—' :
(B I—‘

C) ]| —=| x

(D) a8

(E) 3rrRnfia
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83. Where is the Niagara river found ? 83, =W ¢ FEl 8 7
(A) India (A) ﬂT}'ﬂ
(B) Australia ELE (B) Fegferam
. g s
(C) North-America SclE [_/LG)
(D) Japan (D) SAH
(E) Not attempted (E) 3T
’ 7 fowm
84. Rewari Railway Heritage Museum 84. i@ % ETE W YL auger™
of Haryana had world’s oldest still H g A AN ot =me] €W ArpHIea
functional steam locomotive known as %’ il wEd 21
(A) Himalayan Queen (A) fearerE =
(B) Fairy Queen ‘ LAB) Had =T
(C) Iron Lady (C) A et
(D) Shimla Kalka Express (D) Rt FHTeTshT TRE
(E) Not attempted (E) 3T
85. Who was the Chairman of Drafting | 85. [qUW &1 ol Y HiHfq Hi A&
Committee of Constituent Assembly ? S AT ?
(A) Sardar Vallabhbai Patel (A) TER Wﬁ T

(B) K. M. Munshi
(C) Dr. B. R. Ambedkar

(D) Dr. Rajendra Prasad (D) Ei. TNig T@Te
(E) Not attempted (E) IRt
86. Complete the following Analogy. 86. f=fetRaa ey ‘ﬁﬁ it |

Vitamin A : Retinol :: Vitamin C: ﬁaﬁ?A:Wﬁ::ﬁaﬁ:{C:____
(A) Calciterol (A') St
(B) Niacin (B) Frnfem
(C) Tocopherol ©) E
(D) Ascorbic acid (D) Tehifdeh 3T
(E) Not attempted (E) s

B | -20-
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87. Nabh Chhor is the leading evening
newspaper published from
district of Haryana.

(A) Palwal

(B) Hisar

(C) Sonipat

(D) Rohtak

(E) Not attempted

88. A sum of Rs. 800 amounts to Rs. 920

in 3 years at simple interest. If the
interest rate is increased by 3%, it
would amount to how much ?

(A) 995 (B) 997

(C) 998 (D) 992

(E) Not attempted

89. Complete the following Analogy.

Ayurveda : Medicine :: Dhanurveda :

(A) Music

(B) Acting
(C) Archery 24D
Ot

(D) None of the above
(E) Not attempted

is the most important and

widespread category, it covers 40% of
the land area. In fact the entire Northern

plains are made up of these soils.
(A) Red soil

(B) Laterite soil

(C) Alluvial soil

(D) Black soil

(E) Not attempted

90.

21-
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g87. WA gams__ @ d
YHIRT B STer U HeT GHTERTA B |

(A) gt
) fem

(C) @fgd * ~
(D) Ugdh ’
(E) 3T

®. 800 hl Tk TR 3 o T ATemOT =
W&, 920 § A 7 | A & W 3%
w¢ STt 8, o 39ht Ui frat BFft 27 @
(A) 995 (B) 997 A
(C) 998 BT 992 ”",ﬂ:ﬁ)
(E) STvantéa

89. TfeiRaa TaEyar quf <hifsm)
W:m:: ‘-Eﬁﬁ:__
x(A) T
(B) IR
LAC) 3=
(D) 39 H ¥ s &
(E) 3T

____ waifies wgayet 3R ggg Aoft R,
T T 40% -8 3T B1 wfewh
qU I8 AeH = e R |

(A) et 7T

(B) T &1
LAC) SFellg Wl

(D) et a1

(E) arsrnféa

88.

90.
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CG - cazs
% &= W
English Language
English Langtos™
. onglish | 96, T 7 R T I 5 g
91. How many tense arc there 111 e ?
Grammar ? (/W ESICi]
(A) 2 By 3 B ST
(C) 8 (D) 4 Q) 1 5
(E) Not attempted i
92. Complete the following Analogy- )
?,;foéeé e it 97. , ¥, T, H, ¥ 3G Hl I TIH §
al
(B) Happy LARK) T
L) Suffer (B) HUH
(D) Pain 0 (C) g::ﬁ‘lsaﬂ
(E) Not attempted J;.;&; (D) AT
93. How many types of nouns are there (E) ST
in English grammar ? 98. gRmaT’ fpaef) 29
, Gl B) 4
S, WO (B) : ) @
- (C) 2 \AD) )
(E) Not attempted \_/(('2) @EIEI
94. Complete the following Analogy. (D) NN ERCNED
Hen : Pullet :: Kangaroo : E) 2
(A) Calf .
(B) Pup 99, it if o= % fohaR W& R 7
LAC) Joey A) 3 (B) 4
(D) Gub LiG) 2 D) 1
(E) Not attempted ®)
95. The past participle form of the verb 100. TR £ 3 = f5a a8 W;ﬁ A
R ofyerr 35 e 3 € P
re
(B) Draw G k/tg) :ji 1903
() Drawing B4 (B) =¥ 1906
Drawn (C) =¥ 1909
(E) Not attempted (D) =¥ 1900
;; (E) Irsrntéd
__:\—
B

(% scanned with OKEN Scanner





